HERIEANKE

FESHEHN (FHCRENIERSR)

EANBEMERINTSTEE
(B) $f1284818 (E) $#343H8318
(847 : M)
BEne FHE(A) RE(B) =R(A)-(B) W=

NERREERA 339, 702, 000 340, 928, 992 1,226,992

? | g [emersmanA 100, 000 100, 000
RV | zmagmsemA 10, 000 1,148 8, 852
& | M | zotoma 1, 000, 000 1,462, 207 -462. 207
B [EEEssoat (1) 340, 712, 000 342, 492, 347 7,780, 347
C [ [KEE=® 201, 800, 000 197,138, 739 4,661, 261
& | Bz 58, 950. 000 64,597, 663 -5, 647, 663
3 | [BBEZE 54, 860, 000 54, 763, 701 96, 299
| ™ SR 1,700, 000 1,514, 275 185, 725
« | [BEEnEmE (2) 317, 310,000 318,014, 378 704, 378
BEEDASREER (3) = (1) - (2) 23, 402, 000 24, 477, 969 7,075, 960
M| PR REHENSINA 0 0
w| |[MEmEmESHRImA 0 0
g | R | SBHEESEASIA 0 0
| A | BEEERRA 0 0
=| |EOMOBREHESCLHRA 0 0
o | |EEBmEnAst (4) 0 0 0
NGO T 17,500, 000 16, 758, 000 742, 000
% |mraEmezy 700, 000 2,630, 576 ~1,930,576
3\ | BEEER BESS 0 0
R| [EEEEEZLE (5) 18, 200, 000 19,388, 576 1,188,576
% RS RSN A (6) = (4) — (5) =18, 200, 000 =19, 388,576 1,188,576
T g [FBEEEEEASTRITESHERA 0 0
21 |BBEEASEASRA 0 0
& | [ZomoEBRIE (7) 0 0 0
B[, [REEERREAR R RARE 0 0
i€ | [P AR S 2,000, 000 1,979, 000 21,000
+ |7 [zotoEszEat (8) 2, 000, 000 1,979, 000 21,000
TOMDEHESINZERE (9) = (7) - (8) 2,000,000 =1, 979, 000 21,000
FREZE (10) 500, 000 500, 000
SERNSAESE (11) = (3) + (6) + (9) — (10) 2,702, 000 3,110,393 408,393
A ESES (12) 129, 864, 752 129, 864, 752 0
USRI ARES (11) + (12) 132, 566, 752 132, 975, 145 ~408, 393
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